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[Time; 2 % Hours]

[ Marks : 75]

Please check whether you have got the right question paper.
N 1. Attempt all guestions.
2. All questions carry equal marks
4. Draw neat labelled diagrams wherever Necessary

0o as directed:- (any fifteen)
. Define gene,

i, Define test cross,
i The ratio for dominant epistasis 16 e’
v, _____Inhumansisan gxample of multiple alleles,

v, Explain the term Punnett square.
J. State True or False: - A homozygous individual could have a Bb genotype.

Al State True or False: - The phenotypic ratio of 1:2:1 in Mirabllis Cnt s dué to incomplete
on

1.

dominance.
Jii,  In Mendel's initial gxperiments, an example of the F2 gen

76 round seed plants 1o 25 wrinkled seed p'lpnu

b) 75 green seed plants to 25 yellow seed plants

76 white-flowered plants to 25 purpmrg dif
d) allof the above | |

v, Define Auxotroph.

x,  Define Prophage. W
A State True or False: - In a HFr x F Cig @, requency
i, MTmlﬂl'Flluhumr bat rl et s 1« -
enes for histidine synthesis ag am Pl

uldbe

1

_- 1 -
hages to lytic cycle.
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